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image5.png
Based on the graph above, what are the zeros of the polynomial?

- (-3,0)and (2, 0)

(3.0)and (-2, 0)
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It can be proven that the expression (a + b)(a” - ab + b?) is equivalent to
which of the following polynomial identities?
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Eli and Cassie were trying to expand various polynomials. Eli thought that2
binomials that had the same numbers (regardless of the signs) could always be

(a+ b)a+b)=a?+ b

Cassie thought that they would always be multiplied differently, as shown below:

(a+ b)a+b)=a? +2ab + b7

To determine under which circumstances Eli and Cassie are correct, they decided to
expand three polynomials that are the same exceptfor their signs. Complete the.
table to determine the correct expansion of each polynomial.
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To determine under which circumstances Eli and Cassie are correct, they decided to
expand three polynomials that are the same except for their signs. Complete the
table to determine the correct expansion of each polynomial.

PB Re2beB? 2-2abeb
(=57 o o o
(a7 o o o

(a+b)a-b) o] [e] [e]
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For the polynomial function g(x), g(-3)
functions could it be?

and g(6) = 0. Which of these
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M ow-2-a-18
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What is the remainder when x2 - 38 + 361 is divided by x - 197

°
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Joey correctly factored f(x) = x> — 3x? — 34x — 48 as f(X) = (x - 8)(x + 2)(x + 3).
Based on that result, Joey said that the graph of the polynomial will have
zeros at (-8, 0), (2, 0) and (3, 0). Is he correct?

Yes, Joey correctly identified the zeros of the polynomial

No, Joey should have set each binomial factor equal to zero and then
solved for x to determine the zeros of the polynomial.

No. Joey should only have positive values for the zeros of the polynomial.

No, Joey should have written the zeros as (0, -8). (0. 2) and (0, 3).
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Simplify the following expression:

(153 +28y2 + 7y —6) = (5 + 6)




image13.png
The formula for the volume of a rectangular prism is V= Bh, where B is the
area of the base and h is the height of the prism. If the rectangular prism
shown below has a volume of V= 3x3 + 8x - 45x - 50, what expression
represents the length of the unknown side?

X+1

—3x+10
3r-10

100
w-10+
Xrbxrs

26x+5
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In a video game, a centipede follows a path that can be partially modeled by
the function f(x) = x(x - 5)(x - 3). This function can be graphed on a
coordinate plane.

What are the zeros of this polynomial function?
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What is the completely factored form of 4x* - 16x2?
| wo-
402 - 2002 + 2x)
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420+ 2)(x-2)
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Where does the graph of the function h(x) = 27x3 - 125 cross the x-axis?

. Atx=-5
® ..

3

. Al)(=i
3
. Atx=5
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A meteorologist makes a graph of the low temperatures of the previous week and the
low temperatures of the current week to see if a pattern exists. He marks the days of
the previous week on the negative part of the x-axis and the current days on the.
positive part of the x-axis. He marks the temperatures (in Fahrenheit) on the y-axis.
Next, he creates a polynomial function based on the graph and uses the function to
estimate the temperature pattern under similar conditions.
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Using the graph above, determine whether each statement is true. Select True or False.
for each statement.

True False

~5is a zero of the function

—1is a zero of the function

3is azero of the function

41s azero of the function
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Which of these is a factor of x* — 2x® — 13x? + 38x - 247

g x-4
g x=1
g x+2
g x+3
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Tabatha claims that (2x - y) - (x— 2y = 3(x + y)x - y) is a polynomial identity and is
true for all values of xand y. She shows the proof below.
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Determine whether each property or assumption below is used in the proof. Select
Yes or No for each property or assumption.

Yes No
reflexive property 0] 0]
distributive property o o
combining like terms o o
diflerence oftwo squares o o
muttiplication property of equality 0] 0]

perfect square trinomial pattemor FOL O o
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Which graph represents y = 3z* + 3z — 6 2
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Kylie thought that the polynomial x> - y° is equivalent to the expression
(x=y)2 +xy +y2).

To test her conjecture, she decided to multiply the expression
(2x - 3y)(4x2 + 6xy + 9y%). She believes that the answer will be in the form
ax® - by3.

Enter the value of | a| +| b| from the expression above.
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What can be determined by looking at the factored form of the polynomial
19 = (x+3)(x=7)?

The graph of the polynomial has a vertex at (3. ~7).
The graph of the polynomial has a vertex at (-3, 7).
The graph of the polynomial has zeros at (3, 0) and (-7, 0).

The graph of the polynomial has zeros at (=3, 0) and (7. 0).
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Factor completely:
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Which product of factors is equivalent to x100 ~362

x10-6)(x10 + 6)
(10— 18)(x10 + 18)
(320 6)(x50 + 6)

(x80 - 18)(x50 + 18)
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There s a relative maximum at x = 1.

There s a relative minimum at x = 3,

There s a relative maximum at x = 4.

There s a relative maximum at x = 5.

There s a relative minimum at x = 6.

There s a relative minimum at x = 7.
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The graph shows a relationship between x and y.

v

a

Which of the following statements about the graph are true? Select two that
apply.
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Where does the graph of the function f(x) = x? + x - 6 cross the x-axis?
Atx=—6

Atx=-3andx=2

Atx=-2andx=3

Atx=6
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Which of the following polynomials is prime and cannot be factored?

32— 12x-15
32120+ 15
32— ax-15

32— 4x+15




image1.png
My + 3802
10,12 _ 4251
n factor of 6x10y/
test commor
the great
What is

| =r
| -~
|

Ly




image2.png
Consider the function f(x) = -2(x - 3)(x + 8). Select the x-intercept(s) of the
graph of the function. Select all that apply.

x=-5

x=-3
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Choose the binomial factor needed to create a difference of two squares
with 3x2y - 2.

ay+2
3y -2
oy2+4
ody2 -4
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Josh used the zeros of a polynomial to sketch the following graph of the
function.





